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Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the guestion before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(1)

(i)

(iit)

(iv)

(v)

(vi)

(vii)

(viii)

There are 22 geneal questions.

Question numbers 1-7 are very short answer questions carrying I mark each.
Answer to these questions should not exceed 40 words.

Question numbers 8-13 are short answer questions carrying 3 marks each. Answer
to these questions should not exceed 80-100 words.

Question numbers 14-20 are long answer questions carrving 5 marks each. Answer
10 these questions should not exceed 150 words.

Question numbers 21.22 are related to identification, locating and labelling of
geographical features on given map carrying 5 marks each.

. .
Outline maps of the World and India provided to you must be attached within your

answer-book.
Use of templates or stencils for drawing outline maps is allowed.

All questions are compulsory.

3 rﬁaﬁaﬁrmﬁﬁmﬁ?wqua&hm 12+12=1

Distinguish between towns and villages on the basis of occupation.

% Wﬁwxﬂﬂwﬂrmaﬁﬁmmmmh
is the level of urbanization measured in Tndia ?

How
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3. shyme g A e Temn st e an . 3

Why did Sher Shah Suri built the Shahi (Royal) road ?

4, YgEUT % STEAOT i FHUR TG ? 1

What is the criterion for the classification of pollution 7

5. ‘giteEs T = givamer fafe | 1

Define the term ‘transport network’.

6 e framt fed wed € 7 1

What are economic activities 7

7. wwgEn faeer %1 it e | 1

Define the term ‘populaton distribution’.

8. waw ¥ wr wfedt # snfef s e o el dR s i EieT 1 3x1=3

-Explain any three factors responsible for the location of rural settlements in the world,

9. HFE T & rengs 9 favgew = ) et AR mal wemem St 1 3x1=3
What is the subject-matter of the study of human geography ? Explain any three facts.
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11.
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14.

13.
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Explain any three physical factors responsible for different types of rural settlements in :
India. \
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“The assessment, efficient use and comservation of water are necessary 10 ensure

development.” Explain in the light of values regarding conservation of water

resources.
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-

“Land resource is more crucial to the people whose livelihood is depending on
agriculture in India.” Support this statement by any three suitable arguments.
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How do industries pollute India’s water bodies 7 Explain with examples.
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How is the mortality rate of a region affected ? Explain any four push factors
responsible for emigration.
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Define the term ‘nomadic herding’. Explain its any four characteristics.
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17.

18.
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19,

20.
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Explain any five factors that influence the industrial location in the world.
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Which means of transport is extensively used to carry water, petroleum, natural gas

and other liquids ? Describe the network of this means of transport in the world.
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"Development in general and human development in particular is a complex concept

used in Social Sciences.” Justify this statement with suitable arguments.

“ORE H e o Faeror woeT P I T S IR I A R R AT | 5x1=5

- “The distribution of roads is not uniform in India Support this statement with suitable

arguments.
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Whyisﬂ:ﬂareaundwpaswmiﬂdacmasinginlndja?Howdﬂtbechaugesmﬂle
economy effect the changes in land use ? Explain.
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(D) T e TR

(B) wum fadt

In the givenpnliﬁcalmﬂinemapnfﬂ&e World, five features have been shown by A, B, C,
D and E. Identify these features withtheheipofﬂminfnrmaﬁnngivenbalnwandwﬁm
their correct names on the lines drawn near them : '

(A) The country having the highest rank in Human Development Index 2003.
(B) Railway terminal station.

(C) An important airport.

(D) A major seaport.

(E) A megacity

e - Pt wee S 3Rzt w3 fog e g 21 % T WE
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Note : The following questions are for the Visually impaired candidates only, in lieu of
Q. No. 21 : '

(21.1}) Name the country having the highest rank in Human Develnﬁmeul, [ndex 2003.
(21.2) Name the eastern most station of Australian Trans-Continental railway.

(21.3) Name any major airport of Brazil.

(21.4) Name the major seaport located on the coast of the Gulf of Mexico.

(21.5) Which is the Mega city of Nigeria ?

R & Ry 7y weifos et 7 freafafia w5t fafy sve foet @ Rene ot o
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(v) Wi e arue

On the given political outline map of India, locate and label the following with
appropriate symbols :

(1)  The state having the smallest area

(i) The leading Jute producing state

(iii) A oil-refinery in Haryana

(iv) An integrated Iron and Steel Plant in Chhattisgarh

(v) The international airport in Karnataka

Atz ; Frfafaa wer S gReafi whenfist 3 v wer den 22 S o e
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(22.3) eRamm 7 feaa Aewivs SREH & W 96T |
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Note: The following questions are for the Visually impaired candidates only, in

lieu of Q.No. 22 :
(22.1) Name the state of India having the smallest area.
(22.2) Which is the leading Jute producing state of India ?

(22.3) Name the oil-refinery located in Haryana.

(22.4) Name the place in Chhattisgarh, where an integrated iron and steel plant is

located.

(22.5) In which city of Karnataka, the international airport is located ?




Map for Q. No. 21
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